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Introduction
[bookmark: OLE_LINK1][bookmark: OLE_LINK2]In last meeting, msgB reception was discussed in both RAN1 and RAN2. This contribution discusses msgB-RNTI design based on RAN1 and RAN2 agreements.
Discussion
RAN2 considered two options for msgB and Msg2 reception: 1) separate search spaces; 2) separate RNTI values. Based on RAN1 and RAN2 agreements in last meeting, it seems only separate RNTI method left.
In RAN1 LS [1], it is stated that:
	Agreements:
· For 2-step RACH, no new CORESET for MsgB is defined.

·  (Working assumption) For the PDCCH associated with MsgB, MsgB is received on the ra-SearchSpace.

Agreements:
UEs in CONNECTED state use UE specific search space, or common search space to receive the PDCCH associated with MsgA response and with CRC scrambled by the C-RNTI.

Therefore, it is up to RAN2 to decide whether or not to use RNTI to differentiate Msg2 vs. MsgB, for which RAN1 respectfully requests RAN2 to inform RAN1 the decision once made.



In RAN2#107bis, the agreements related to msgB reception are:
Agreements:
6. No UE specific RNTI will be designed for 2-step RACH in case CCCH SDU was included in MsgA.
8. RAN2 will work on specifying a new RA-RNTI design for msgB 
Agreements:
1. Legacy UEs are not required to decode msgB

So what we need to do is to design msgB-RNTI since both RAN1 and RAN2 consider it is RAN2 work.
To distinguish msgB-RNTI and RA-RNTI, msgB-RNTI value space should be different to RA-RNTI value space. And then legacy UEs don’t need to decode msgB as RAN2 agreement.
The simplest way to get two distinct RNTI value spaces is to deduce msgB-RNTI by adding an offset to the RA-RNTI formula. This solution is adopted in LTE for BL UEs and UEs in enhanced coverage.
msgB-RNTI = 1 + s_id + 14 × t_id + 14 × 80 × f_id + 14 × 80 × 8 × ul_carrier_id + offset
There are at least two options for the offset value:
1) Offset is equal to the maximum number of RA-RNTI based on the maximum number of parameters in RA-RNTI formula, i.e. 17920 in Rel-15;
2) Offset is equal to the maximum number of RA-RNTI in the cell based on the ROs configured in the cell.
[bookmark: _Ref23409956][bookmark: OLE_LINK7][bookmark: OLE_LINK8]We prefer option 1 because option 1 is simpler, i.e. offset = 17920.
[bookmark: _Ref23409970]Proposal: RAN2 adopts below formula for msgB-RNTI:
msgB-RNTI = 1 + s_id + 14 × t_id + 14 × 80 × f_id + 14 × 80 × 8 × ul_carrier_id + 17920
Conclusion
This contribution discusses msgB-RNTI design and provide below proposal.
Proposal: RAN2 adopts below formula for msgB-RNTI:
msgB-RNTI = 1 + s_id + 14 × t_id + 14 × 80 × f_id + 14 × 80 × 8 × ul_carrier_id + 17920
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